

Monday 7:00 pm

Manor Lanes

Lanes 13 - 24

Team Standings

| Place | # | Team Name | Lane | Points | | Team | | Pins + HDCP | Scratch Pins | High Scratch | | High HDCP | |
|-------|----|------------------|------|--------|------|------|------|----------------|-----------------|--------------|------|-----------|------|
| | | | | Won | Lost | Avg | HDCP | | | 10 | 30 | 10 | 30 |
| 1 | 10 | Deez Nuts | 21 | 91 | 63 | 506 | 137 | 43199 | 32966 | 606 | 1594 | 753 | 2130 |
| 2 | 5 | 800 Maple | 18 | 90 | 64 | 505 | 138 | 42850 | 33406 | 644 | 1710 | 773 | 2136 |
| 3 | 1 | G.B. Destruction | 23 | 86 | 68 | 543 | 104 | 42870 | 35796 | 714 | 1972 | 815 | 2275 |
| 4 | 6 | Bowling Mafia | 14 | 84 | 70 | 519 | 126 | 42554 | 33592 | 634 | 1703 | 770 | 2103 |
| 5 | 4 | Dome III | 15 | 82 | 72 | 475 | 165 | 42243 | 31473 | 542 | 1571 | 707 | 2009 |
| 6 | 12 | Go Bills | 24 | 79 | 75 | 591 | 61 | 42271 | 37819 | 699 | 1885 | 755 | 2053 |
| 7 | 8 | Misfit Toys | 16 | 78 | 76 | 533 | 113 | 42610 | 34963 | 639 | 1737 | 753 | 2110 |
| 8 | 2 | Sit Down | 17 | 74 | 80 | 537 | 109 | 40192 | 33748 | 670 | 1879 | 773 | 2188 |
| 9 | 3 | Scotch-Anne-Ale | 19 | 72 | 82 | 593 | 59 | 42279 | 37863 | 723 | 1947 | 782 | 2124 |
| 10 | 11 | Beesting & The B | 22 | 67 | 87 | 509 | 135 | 41845 | 33676 | 649 | 1687 | 752 | 2028 |
| 11 | 9 | Ball Blasters | 13 | 63 | 91 | 420 | 215 | 37936 | 24562 | 529 | 1408 | 742 | 2062 |
| 12 | 7 | Queen City Finan | 20 | 58 | 96 | 483 | 158 | 41890 | 31807 | 583 | 1611 | 737 | 2073 |

Review of Last Week's Bowling.....

| Lanes | Team Name | HDCP -1- | HDCP -2- | HDCP -3- | HDCP Total | Last Wk WON | Team Name | HDCP -1- | HDCP -2- | HDCP -3- | HDCP Total | Last Wk WON |
|-------|------------------|------------|------------|------------|-------------|-------------|-----------------------|------------|------------|------------|-------------|-------------|
| 13-14 | G.B. Destruction | 627 | 647 | 718 | 1992 | 2 | <---> Dome III | 657 | 671 | 680 | 2008 | 5 |
| 15-16 | Deez Nuts | 716 | 636 | 635 | 1987 | 7 | <---> Scotch-Anne-Ale | 616 | 539 | 616 | 1771 | 0 |
| 17-18 | Bowling Mafia | 676 | 573 | 625 | 1874 | 5 | <---> Go Bills | 576 | 667 | 601 | 1844 | 2 |
| 19-20 | Ball Blasters | 645 | 664 | 665 | 1974 | 5 | <---> Misfit Toys | 753 | 626 | 572 | 1951 | 2 |
| 21-22 | Queen City Finan | 678 | 607 | 686 | 1971 | 0 | <---> Sit Down | 730 | 684 | 731 | 2145 | 7 |
| 23-24 | Beesting & The B | 630 | 671 | 638 | 1939 | 7 | <---> 800 Maple | 576 | 646 | 534 | 1756 | 0 |

Lane Assignments

| | 13-14 | 15-16 | 17-18 | 19-20 | 21-22 | 23-24 |
|------------|--------|-------|-------|-------|--------|-------|
| Wk23 03/11 | 9- 6 | 4- 8 | 2- 5 | 3- 7 | 10- 11 | 1- 12 |
| Wk24 03/18 | 11- 12 | 5- 6 | 9- 10 | 1- 2 | 3- 4 | 7- 8 |

Season High Scores

| Team Handicap Series | Team Handicap Game | Team Scratch Series | Team Scratch Game |
|-----------------------|---------------------|-----------------------|----------------------|
| 2275 G.B. Destruction | 782 Scotch-Anne-Ale | 1885 Go Bills | 670 Sit Down |
| 2136 800 Maple | 770 Bowling Mafia | 1737 Misfit Toys | 649 Beesting & The B |
| 2130 Deez Nuts | 742 Ball Blasters | 1611 Queen City Finan | 542 Dome III |

The bowler with the high average is not eligible for season game and series awards.
The bowler with the most improved average is not eligible for season game and series awards.

| Handicap Series | Handicap Game | Scratch Series | Scratch Game |
|-------------------|--------------------|--------------------|-------------------|
| 804 Ray Kirschner | 327 Brian Ballard | 724 Dean Koscielny | 277 Dave Geib |
| 797 John Rowell | 304 Justin Fordham | 699 Doug Catlin | 277 Jesse Karcher |
| 785 Ken Geiger | 302 Phil Yarnes | 695 Nick Panepinto | 269 Scott Barker |
| | | | 256 Dale Geiger |
| | | | 256 Jay Corrao |

Last Week's Top Scores

| Team Scratch Game | Team Scratch Series | Team Handicap Game | Team Handicap Series |
|----------------------|-----------------------|----------------------|-----------------------|
| 639 Misfit Toys | 1854 Sit Down | 753 Misfit Toys | 2145 Sit Down |
| 634 Sit Down | 1674 G.B. Destruction | 731 Sit Down | 2008 Dome III |
| 612 G.B. Destruction | 1670 Go Bills | 718 G.B. Destruction | 1992 G.B. Destruction |

| Scratch Game | Scratch Series | Handicap Game | Handicap Series |
|--------------------|--------------------|-------------------|--------------------|
| 300 Ray Kirschner | 706 Ray Kirschner | 310 Ray Kirschner | 767 Jason Stopka |
| 231 Jason Stopka | 663 Dean Koscielny | 272 Jason Stopka | 736 Ray Kirschner |
| 231 Dean Koscielny | 644 Jason Stopka | 260 Dave Heider | 729 Dean Koscielny |
| 225 Dave Heider | | | |

Individual High Averages

| | | | | | |
|--------|--------------|--------|---------------|--------|--------------|
| 212.24 | Quinn Corrao | 210.13 | Ray Kirschner | 205.44 | Scott Barker |
|--------|--------------|--------|---------------|--------|--------------|

Monday 7:00 pm

Manor Lanes

Lanes 13 - 24

Team Rosters

| Name | Pins | Gms | Avg | HDCP | -1- | -2- | -3- | Total | Name | Pins | Gms | Avg | HDCP | -1- | -2- | -3- | Total |
|---|-------|-----|-----|------|-----|-----|-----|-------|---|-------|-----|-----|------|-----|-----|-----|-------|
| 1 - G.B. Destruction Lane 23 HDCP=104 | | | | | | | | | 2 - Sit Down Lane 17 HDCP=109 | | | | | | | | |
| Jesse Karcher | 9595 | 54 | 177 | 38 | 170 | 196 | 201 | 567 | Derek Geiger | 9915 | 60 | 165 | 49 | | | | 0 |
| Don Calabrese | 4646 | 27 | 172 | 43 | 175 | 178 | 201 | 554 | Jason Stopka | 11095 | 63 | 176 | 39 | 200 | 231 | 213 | 644 |
| Doug Catlin | 10483 | 54 | 194 | 23 | 176 | 167 | 210 | 553 | Dean Koscielny | 11226 | 57 | 196 | 21 | 231 | 206 | 226 | 663 |
| Ken Geiger | 10239 | 57 | 179 | 36 | | | | 0 | John Stopka | 547 | 3 | 182 | 34 | 202 | 150 | 195 | 547 |
| Derek Lowden | 0 | 0 | 0 | 0 | | | | 0 | | | | | | | | | |
| 3 - Scotch-Anne-Ale Lane 19 HDCP=59 | | | | | | | | | 4 - Dome III Lane 15 HDCP=165 | | | | | | | | |
| Scott Barker | 9245 | 45 | 205 | 13 | 217 | 145 | 179 | 541 | Rick Simpson | 9972 | 66 | 151 | 62 | 135 | 175 | 168 | 478 |
| Candice Geiger | 11893 | 62 | 191 | 26 | 194 | 174 | 202 | 570 | Ed Simpson | 8287 | 60 | 138 | 73 | 177 | 148 | 147 | 472 |
| Dale Geiger | 11848 | 60 | 197 | 20 | | | | 0 | Fred Connors | 11761 | 63 | 186 | 30 | 178 | 181 | 198 | 557 |
| Jenna Wilson | 0 | 0 | 0 | 0 | | | | 0 | Tom Simpson | 1048 | 6 | 174 | 41 | | | | 0 |
| Ricky Henri | 681 | 3 | 227 | 0 | | | | 0 | | | | | | | | | |
| Rich Gerst | 4201 | 27 | 155 | 58 | | | | 0 | | | | | | | | | |
| 5 - 800 Maple Lane 18 HDCP=138 | | | | | | | | | 6 - Bowling Mafia Lane 14 HDCP=126 | | | | | | | | |
| Herb Zimmerman | 10890 | 66 | 165 | 49 | 151 | 167 | 131 | 449 | Justin Fordham | 9633 | 53 | 181 | 35 | 200 | 159 | 168 | 527 |
| Chas Mallia | 10786 | 60 | 179 | 36 | 157 | 180 | 149 | 486 | John Rowell | 10483 | 57 | 183 | 33 | 197 | 165 | 169 | 531 |
| Jim Pollina | 5324 | 33 | 161 | 53 | 132 | 163 | 118 | 413 | Richard Neilson | 10289 | 66 | 155 | 58 | 156 | 126 | 165 | 447 |
| Joe Schmitt | 2249 | 15 | 149 | 63 | | | | 0 | Denny Angelo | 0 | 0 | 0 | 0 | | | | 0 |
| Kyle Zimmerman | 3626 | 21 | 172 | 43 | | | | 0 | Jeff Bowerman | 8071 | 54 | 149 | 63 | 106 | 121 | 136 | 363 |
| 7 - Queen City Finan Lane 20 HDCP=158 | | | | | | | | | 8 - Misfit Toys Lane 16 HDCP=113 | | | | | | | | |
| Marty Staniszewski | 10932 | 66 | 165 | 49 | 196 | 141 | 163 | 500 | Brian Ballard | 7907 | 51 | 155 | 58 | 179 | 164 | 126 | 469 |
| Phil Yarnes | 9387 | 60 | 156 | 57 | 170 | 175 | 187 | 532 | Ray Kirschner | 13238 | 63 | 210 | 9 | 300 | 222 | 184 | 706 |
| John Bakowski | 10263 | 63 | 162 | 52 | 154 | 133 | 178 | 465 | Dave Walter | 9124 | 54 | 168 | 46 | 160 | 126 | 148 | 434 |
| Mike Petty | 0 | 0 | 0 | 0 | | | | 0 | Dan Rosado | 0 | 0 | 0 | 0 | | | | 0 |
| Charlie Sperrazza | 0 | 0 | 0 | 0 | | | | 0 | | | | | | | | | |
| Brad Roberts | 0 | 0 | 0 | 0 | | | | 0 | | | | | | | | | |
| Mike Taylor | 841 | 6 | 140 | 72 | | | | 0 | | | | | | | | | |
| Dave Simonson | 0 | 0 | 0 | 0 | | | | 0 | | | | | | | | | |
| 9 - Ball Blasters Lane 13 HDCP=215 | | | | | | | | | 10 - Deez Nuts Lane 21 HDCP=137 | | | | | | | | |
| Shane Diggins | 10887 | 60 | 181 | 35 | 212 | 205 | 174 | 591 | Anthony Bagarozzi | 10865 | 66 | 164 | 50 | 204 | 129 | 165 | 498 |
| Chris Schimschack | 3305 | 27 | 122 | 88 | | | | 0 | Danielle Bagarozzi | 10533 | 66 | 159 | 54 | 186 | 143 | 145 | 474 |
| Andrew Connelly | 6362 | 54 | 117 | 92 | 98 | 129 | 124 | 351 | Dave Heider | 4950 | 27 | 183 | 33 | 187 | 225 | 186 | 598 |
| Nick Coburn | 0 | 0 | 0 | 0 | | | | 0 | Kyle Shay | 6618 | 39 | 169 | 45 | | | | 0 |
| Alexis Mackris | 3018 | 33 | 91 | 116 | 90 | 85 | 122 | 297 | | | | | | | | | |
| 11 - Beesting & The B Lane 22 HDCP=135 | | | | | | | | | 12 - Go Bills Lane 24 HDCP=61 | | | | | | | | |
| Dave Geib | 7648 | 42 | 182 | 34 | 193 | 202 | 176 | 571 | Nick Panepinto | 11671 | 60 | 194 | 23 | 198 | 205 | 142 | 545 |
| Jason Lewandowski | 9004 | 54 | 166 | 48 | | | | 0 | Jay Corrao | 10583 | 57 | 185 | 31 | 155 | 190 | 191 | 536 |
| Billy Reinhold | 7762 | 48 | 161 | 53 | 147 | 168 | 142 | 457 | Quinn Corrao | 11461 | 54 | 212 | 7 | 165 | 214 | 210 | 589 |
| Gorno | 3956 | 24 | 164 | 50 | | | | 0 | Sierra Corrao | 439 | 3 | 146 | 66 | | | | 0 |
| Andy Geib | 3458 | 18 | 192 | 25 | 178 | 189 | 208 | 575 | | | | | | | | | |
| Tony Iannone | 0 | 0 | 0 | 0 | | | | 0 | | | | | | | | | |
| Adam Timmerlin | 396 | 3 | 132 | 79 | | | | 0 | | | | | | | | | |

Manor Lanes

Reprint of Scores -- Week 22

Lane 13 1 - G.B. Destruction Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Jesse Karcher | 177 | 38 | 170 | 196 | 201 | 567 | 681 |
| Don Calabrese | 170 | 45 | 175 | 178 | 201 | 554 | 689 |
| Doug Catlin | 194 | 23 | 176 | 167 | 210 | 553 | 622 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 521 | 541 | 612 | 1674 | 1674 |
| Handicap | | | 106 | 106 | 106 | | 318 |
| Total | | | 627 | 647 | 718 | 1674 | 1992 |
| Team Points Won | | | 0.0 | 0.0 | 2.0 | 2.0 | 2.0 |

Lane 14 4 - Dome III Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Rick Simpson | 150 | 63 | 135 | 175 | 168 | 478 | 667 |
| Ed Simpson | 137 | 74 | 177 | 148 | 147 | 472 | 694 |
| Fred Conners | 186 | 30 | 178 | 181 | 198 | 557 | 647 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 490 | 504 | 513 | 1507 | 1507 |
| Handicap | | | 167 | 167 | 167 | | 501 |
| Total | | | 657 | 671 | 680 | 1507 | 2008 |
| Team Points Won | | | 2.0 | 2.0 | 0.0 | 5.0 | 5.0 |

Lane 15 10 - Deez Nuts Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|--------------------|---------|----------|-------|-------|-------|-------|------------|
| Anthony Bagarozzi | 164 | 50 | 204 | 129 | 165 | 498 | 648 |
| Danielle Bagarozzi | 159 | 54 | 186 | 143 | 145 | 474 | 636 |
| Dave Heider | 181 | 35 | 187 | 225 | 186 | 598 | 703 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 577 | 497 | 496 | 1570 | 1570 |
| Handicap | | | 139 | 139 | 139 | | 417 |
| Total | | | 716 | 636 | 635 | 1570 | 1987 |
| Team Points Won | | | 2.0 | 2.0 | 2.0 | 7.0 | 7.0 |

Lane 16 3 - Scotch-Anne-Ale Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Scott Barker | 207 | 11 | 217 | 145 | 179 | 541 | 574 |
| Jeff Bowerman | 151 | 62 | 106 | 121 | 136 | 363 | 549 |
| Candice Geiger | 191 | 26 | 194 | 174 | 202 | 570 | 648 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 517 | 440 | 517 | 1474 | 1474 |
| Handicap | | | 99 | 99 | 99 | | 297 |
| Total | | | 616 | 539 | 616 | 1474 | 1771 |
| Team Points Won | | | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 |

Lane 17 6 - Bowling Mafia Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Justin Fordham | 182 | 34 | 200 | 159 | 168 | 527 | 629 |
| John Rowell | 184 | 32 | 197 | 165 | 169 | 531 | 627 |
| Richard Neilson | 156 | 57 | 156 | 126 | 165 | 447 | 618 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 553 | 450 | 502 | 1505 | 1505 |
| Handicap | | | 123 | 123 | 123 | | 369 |
| Total | | | 676 | 573 | 625 | 1505 | 1874 |
| Team Points Won | | | 2.0 | 0.0 | 2.0 | 5.0 | 5.0 |

Lane 18 12 - Go Bills Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Nick Panepinto | 195 | 22 | 198 | 205 | 142 | 545 | 611 |
| Jay Corrao | 186 | 30 | 155 | 190 | 191 | 536 | 626 |
| Quinn Corrao | 213 | 6 | 165 | 214 | 210 | 589 | 607 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 518 | 609 | 543 | 1670 | 1670 |
| Handicap | | | 58 | 58 | 58 | | 174 |
| Total | | | 576 | 667 | 601 | 1670 | 1844 |
| Team Points Won | | | 0.0 | 2.0 | 0.0 | 2.0 | 2.0 |

Lane 19 9 - Ball Blasters Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Shane Diggins | 180 | 36 | 212 | 205 | 174 | 591 | 699 |
| Andrew Connelly | 117 | 92 | 98 | 129 | 124 | 351 | 627 |
| Alexis Mackris | 90 | 117 | 90 | 85 | 122 | 297 | 648 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 400 | 419 | 420 | 1239 | 1239 |
| Handicap | | | 245 | 245 | 245 | | 735 |
| Total | | | 645 | 664 | 665 | 1239 | 1974 |
| Team Points Won | | | 0.0 | 2.0 | 2.0 | 5.0 | 5.0 |

Lane 20 8 - Misfit Toys Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Brian Ballard | 154 | 59 | 179 | 164 | 126 | 469 | 646 |
| Ray Kirschner | 208 | 10 | 300 | 222 | 184 | 706 | 736 |
| Dave Walter | 170 | 45 | 160 | 126 | 148 | 434 | 569 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 639 | 512 | 458 | 1609 | 1609 |
| Handicap | | | 114 | 114 | 114 | | 342 |
| Total | | | 753 | 626 | 572 | 1609 | 1951 |
| Team Points Won | | | 2.0 | 0.0 | 0.0 | 2.0 | 2.0 |

Lane 21 7 - Queen City Finan Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|--------------------|---------|----------|-------|-------|-------|-------|------------|
| Marty Staniszewski | 165 | 49 | 196 | 141 | 163 | 500 | 647 |
| Phil Yarnes | 155 | 58 | 170 | 175 | 187 | 532 | 706 |
| John Bakowski | 163 | 51 | 154 | 133 | 178 | 465 | 618 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 520 | 449 | 528 | 1497 | 1497 |
| Handicap | | | 158 | 158 | 158 | | 474 |
| Total | | | 678 | 607 | 686 | 1497 | 1971 |
| Team Points Won | | | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 |

Lane 22 2 - Sit Down Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|-------|-------|-------|-------|------------|
| Jason Stopka | 174 | 41 | 200 | 231 | 213 | 644 | 767 |
| Dean Koscielny | 195 | 22 | 231 | 206 | 226 | 663 | 729 |
| John Stopka | 182 | 34 | 202 | 150 | 195 | 547 | 649 |
| | | | ===== | ===== | ===== | ===== | ===== |
| Scratch Total | | | 633 | 587 | 634 | 1854 | 1854 |
| Handicap | | | 97 | 97 | 97 | | 291 |
| Total | | | 730 | 684 | 731 | 1854 | 2145 |
| Team Points Won | | | 2.0 | 2.0 | 2.0 | 7.0 | 7.0 |

Lane 23 11 - Beesting & The B Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|------|------|------|-------|------------|
| Dave Geib | 181 | 35 | 193 | 202 | 176 | 571 | 676 |
| Billy Reinhold | 162 | 52 | 147 | 168 | 142 | 457 | 613 |
| Andy Geib | 192 | 25 | 178 | 189 | 208 | 575 | 650 |
| | | | ==== | ==== | ==== | ==== | ==== |
| Scratch Total | | | 518 | 559 | 526 | 1603 | 1603 |
| Handicap | | | 112 | 112 | 112 | | 336 |
| Total | | | 630 | 671 | 638 | 1603 | 1939 |
| Team Points Won | | | 2.0 | 2.0 | 2.0 | 7.0 | 7.0 |

Lane 24 5 - 800 Maple Week 22 3/4/2024

| Name | Old Avg | Old HDCP | -1- | -2- | -3- | Total | HDCP Total |
|-----------------|---------|----------|------|------|------|-------|------------|
| Herb Zimmerman | 165 | 49 | 151 | 167 | 131 | 449 | 596 |
| Chas Mallia | 180 | 36 | 157 | 180 | 149 | 486 | 594 |
| Jim Pollina | 163 | 51 | 132 | 163 | 118 | 413 | 566 |
| | | | ==== | ==== | ==== | ==== | ==== |
| Scratch Total | | | 440 | 510 | 398 | 1348 | 1348 |
| Handicap | | | 136 | 136 | 136 | | 408 |
| Total | | | 576 | 646 | 534 | 1348 | 1756 |
| Team Points Won | | | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 |